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Lesson 13 Problem 2
[bookmark: _GoBack]Assumptions: T is an operating company with assets worth $1,000 (basis $700) and no liabilities. T has $300 E&P. A owns some or all of the outstanding common stock of T, its only class, as stated in the various problems below. P is a publicly held operating company. Ignore the effect of tax on any gain recognized by T and assume T stock is worth $10 per share. Assume the existence of a good business purpose for the transactions, continuity of T’s business enterprise, and a plan of reorganization where necessary (though the time boundaries of the plan may be at issue).	In each of the following transactions, what are the tax consequences to each of the parties?
(2) P owns 20 percent of the T stock (acquired 10 years ago for $100) and A owns 80 percent (basis $200). T transfers all its assets to P solely for $1,000 FMV of P voting stock, after which time T liquidates.

Under the former Bausch & Lomb analysis, P appears to get 20 percent of the T assets for its old T stock and 80 percent for P voting stock. Since the boot relaxation rule allows 20 percent boot and there is no debt assumer here, would this transaction be a good Type C reorganization? Refer to § 368(a)(2)(B)(i). What is the tax consequence to A? Refer to § 354. How many is A's the carryover bases in the P stock? Refer to § 358(a)? What is the tax consequence to T and P? You need some analysis for the tax consequences to T and P. The question arose whether the Bausch & Lomb approach would be carried through by treating this in part as a liquidation and in part as a reorganization as to T and P. If so, T transfers 80 percent of its assets solely for P stock and recognizes no gain or loss under § 361(a). T transfers 20 percent of its assets to P as its shareholder. § 361(c)(4) and § 336(c) make clear that as to Disposition No.2 the reorganization rules control; if P is deemed to receive 20 percent would not be qualified property and T would recognize $60 gain. Refer to B&E 12.42[2]. But today, the 20 percent old-and-cold T stock no longer results in taxability to T.
How much income would P also recognize on its T stock under either § 356 or § 331 while holding 20 percent of the asset at $200 cost basis and the other 80 percent at a $560 carryover basis? Which Rev. Rul. would give P a pure § 362(b) carryover basis here despite P's recognition of gain? Consider treating the 20 percent T stock held by P as boot. How about under Regs. § 1.368-2(d)(4)(ii), Ex. (1)?
(3) B owns 20 percent of T stock (basis $10), and A owns the rest. B contributes the 20 percent stock interest to newly formed S for pure preferred S stock, while P contributes $800 cash to S for all of S’s common stock. T then merges into S, with A receiving $800 cash and all T stock being canceled.
This transaction is not exactly a creeping acquisition, unless the probable subsequent purchase of B's S stock (probably from B's heirs) is viewed as the second step. Would it be a good reorganization? Why? Note that B's preferred stock most likely would be § 351(g) stock. What is the tax consequence to B on its receipt in the § 351 exchange with S? Refer to B&E 3.05[4].

(4) P owns 80 percent of T’s outstanding stock, which P acquired 10 years ago (basis $200), and A owns 20 percent (basis $100). T transfers all its assets to P solely for $1,000 FMV of P voting stock, after which T liquidates.
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Under the Bausch & Lomb approach (until its abandonment in 2000 by Regs. § 1.368-2(d)(4)), the circular flow of P stock back to P was disregarded and treated as a § 332 liquidation and not a reorganization. P obtains 80 percent of the T assets for T stock without recognition under § 332 and acquires the other 20 percent of the assets for P stock without recognition under § 1032. P takes a $560 or $700 carryover basis from T for 80 percent or 100 percent of the assets under § 334(b)(1). Would T recognize a gain or loss? Why? You need to analyze several possibilities. Refer to § 334(b)(1) and § 361(a). Also consider a Type C reorganization here. How about P and A? What are the tax consequences for P and A? Why? Refer to 334(a) and 331(a). Also consider a tandem Type C reorganization together with the T-P § 332 liquidation.	

Lesson 14 Problem 3
Assumptions: A and B each has owned 50 percent of the stock of X for many years. A’s stock basis is $800 (FMV $1,000) and B’s stock basis is $1,200 (FMV $1,000). X is engaged in two lines of business (and has been engaged for the last five years, unless the facts specify otherwise): the manufacture and sale of electronic equipment (Electro division) and the manufacture and sale of (Airco division). The assets of each division have an FMV of $1,000 and an adjusted basis of $500, no liabilities exist, and X has E&P of $1,000. Assume that 100 percent of the stock of a corporation is worth the net value of its assets, and ignore calculations of tax owed by X. Except where otherwise indicated, assume that the transactions are motivated by good corporate business purposes and that no shareholder plans to dispose of any stock received. What are the tax consequences to the parties in each of the following transactions?
(3) Vary the basic assumptions assuming Electro were two separate corporations, each owned 50 percent by B. A and B transfer their stock in Electro and Airco to X, which shortly thereafter distributes the Electro stock to A and the Airco stock to B.
This transaction literally passes the active conduct test of § 355(b)(1)(A). Why?
However, if A and B had directly swapped stock, they would have recognized gain and loss. Refer to Regs. § 1.355-4. Is this the case in this transaction? Why? What would be your advice to your client in this case?
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